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01 XN BSELES 79,200 87,990
CSAICIOIZHMEOBtH0I 2SI (5
o) 27,000
CIEHIOHEIDIXI & (Al 2) 52,200
13 SI[2SOHe & EAS A 48,000 60,000
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N 2ete -3 =a 280,320 304,320
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O2ste A2 22 A +=Z 0] 10,000
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=0{ 2 XA 14,000 20,000
307 elztol & 14,000 20,000
02 2B YA E X 14,000 20,000
O=01Z g 2t X2 A 14,000
CH20I0F [ ZOILIAE X2 891,484 1,180,073
308 AHXIEMSOIE 891,484 1,180,073
183 SIS B & HAEAIE 891,484 1,180,073
CIOLSCH2010 2 HUA S XA 891,484
SN S22t ME S+ 3,543,400 3,762,500
308 AHXIHMSO0IA 3,543,400 3,762,500
01 RSN B EES 3,543,400 3,762,500
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S BBISR
FotsMgrE (2oL 2/ 23
S22 X CHe M)
2K BN B(EH) - HRAY - BAS ol & A HIDS2
|| Onzesiso 300,000
NG M=ad3 k& 13,904,380 15,992,773 22,088,393
S M=Z ALK 367,400 741,273 A373,873
308 AHXIHMSOIH 367,400 741,273 A373,873
01 AIXISHNHBAEES 367,400 741,273 A373,873
O=220tH=d 367,400
INE:IGIESE e e 20,000 20,000
201 B2 AY| 20,000 20,000
01 At 2elt] 20,000 20,000
Opt=2H| 20,000
OXlt=g4dstRrel=MES 20,000
HESE T AHAEIE (MEALY) 230,000 230,000 0
308 AtXIHMSOIH 230,000 230,000
01 X SHBAEERS 230,000 230,000
OEStE I THAHAEIE 230,000
J=0=243t 2,767,000 3,750,000 A983,000
307 2I2+01™ 1,940,000 2,720,000 A780,000
02 QIZHAAAIHE X 910,000 1,300,000 390,000
OZae=asid 560,000
OZEHA=nI XA 350,000
03 QIZIHNHER2GHIEX 120,000 120,000 0
(B2 EBZL=CHES2S 120,000
04 QIZHSHAAII B X 910,000 1,300,000 A390,000
O =H ALK& 910,000
308 AXISHMSOIA 827,000 1,030,000 A203,000
01 XIXISHHBAE XS 827,000 1,030,000 A203,000
OXSHEM =R 827,000
KNS S0 =HMXI& 2,493,580 2,654,600 A161,020
308 AHXI SIS O| 2,493,580 2,654,600 A161,020
01 RXISHZ & 2,493,580 2,654,600 A161,020
OSeu=X& 216,970
O=d0l=X& 1,135,380
ONAl=XI& 182,460
OdSH=X& 707,580
O=2sto=X& 251,190
Ol=grHest 73,575 81,750 A8,175
308 AHXIE SOl 73,575 81,750 A8,175
01 XN ZAE 73,575 81,750 A8,175
O2sosns 73,575
Ol=& &AM 516,825 646,150 A129,325
308 XIS Ol 516,825 646,150 A129,325




A= EEHS2 2M 230
3 2olsagr S (2o 2/ 250=)
&elr NGi=24stXd (St &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K oﬁg% HusZ
01 MXSHHBAEERS 516,825 646, 150 A 129,325
OXNSol=aadstia 492,525
CZ=gdiss84datZ2 8RR 24,300
XA 2S =S LSRR AS (B EALY) 1,683,000 1,688,000
308 KEXIEHMSOIH 1,688,000 1,688,000
183 S 2S0UetE 4R AS AL S| 1,688,000 1,688,000
OXE 23t =S &t A& A 1,688,000
NAZ23 S LKIIEAZ(2- 1S HMEALY ) (M EALL) 900,000 900,000 0
308 XXM SO0IA 900,000 900,000
13 SO 2 SONHEE & E A A I 900,000 900,000
OXSZs0=n=IIeH= 900,000
= NSARISHMT (2T X) 85,000 170,000 285,000
308 XXIHMSOIA 85,000 170,000 /85,000
13 SISOt A EAS ALS | 85,000 170,000 /85,000
OSSN SAE S 223X~ 85,000
FOLZ3H0= NS XR (2-1SH A EALY) 200,000 200,000 0
308 KEXIEHMSOIS 200,000 200,000
13 SO 2 SONHEE & X I E A 200,000 200,000
Osot2sttzsns A 200,000
SHBAFHUS LSRR (2-1EHEEAL) 700,000 574,000 126,000
308 XXM SOOI 700,000 574,000 126,000
13 SO 2 SONHEE & & 2AE A 700,000 574,000 126,000
OSHFAFHAMSLRR 700,000
ZE2MH2ERA 3,706,000 3,547,000 159,000
306 £EH= 2,600,000 2,327,000 273,000
01 &= 2,600,000 2,327,000 273,000
OZE2MH2EXHA 2,600,000
308 KEXIEHMSOIH 1,106,000 1,220,000 114,000
183 SIS0t 4R A AL S| 1,106,000 1,220,000 A 114,000
OZ=0=0t2Ha0l 50,000
[E==2cip22H6Ee2SE 56,000
O2sttls=sEzz0d2Y 210,000
Oeel=t=E=2d 190,000
Odsgsgtisd 600,000
I=R=ge2g 70,000 100,000 30,000
308 KFXIEHMSOIS 70,000 100,000 /30,000
18 SV 2SS & AET AL 70,000 100,000 230,000
O3=su=&H2g 70,000
SE2YUAOIEIAEAHEHAEIHE(HMEALY) 87,000 87,000
308 XXM SO0IA 87,000 87,000
01 HRSHH B EES 87,000 87,000




AR SBBHS2 SA 2505
MM 2ol SAYTE (DU R/ 2510 S)
el XG0 =&23tXJ (St &)
A2 2N - BB O9(33) - HSAY - BES O &kt A HImE=sT
|| D22gH0EAEATHSHAEE 87,000
CElsH2AE L) 9,494,323 10,606, 162 A1,111,839
caossed 9,494,323 10,606, 162 ~1,111,839
201 LPre A Y| 3,000 3,000 0
01 Al el 3,000 3,000 0
WEIEIEN= ] 3,000
O HEsH2I L3RS HA 3,000
301 YL A2 9,491,323 10,565, 162 1,073,839
RolsHe - 2s2S8A2 9,491,323 10,565, 162 1,073,839
O =otoes 3,154,060
o=z 2,336,382
-XI3 Xt 5,544,3002 * 1%+ 12 66,532
—4 A 3,847,800 +7% * 122 323,216
~Xp 3,374,000 *58 * 122 202,440
—o2l 3,516,40021 %392 x 102 1,645,676
-At2 e 2,736,600 *38* 128 9,518
Ox2ee 2,336,382, 0002 *1/12+50%+23] 194,699
GLEEEN=SIVN= 57,480
201 0] A 1000008 %335 * 122 39,600
~151 0] k20 0] ©F
80,0002 * 102 * 122 9,600
-1010] AH5E 0 2F
60,0002 *9%i * 12 6,480
540/ A0 0] 2
50,0002 %32 * 122! 1,800
OF2LYZIIHA2 10,200
0550 At 30,0002 %268 * 12 9,360
-201 0] Al25A 0] 0F
10,0002 *7* 122 840
ONHEH &S 37,800
pESY 19,800
WUEIE) 30,0002 %138 * 12 4,680
KHA (STH) 70,0008 %128+ 12 10,080
SIEICY ) 110,0002 %22 * 12 2,640
JIEDHE 20,0002 * 102 * 122 2,400
-S0tERSY
1,500,00081* 1% 122 18,000
OY =S|
2,336,382, 0002 *1/12+60%+23] 233,639
Otlsag 73,200
-XI3 Xt 200, 0002+ 12+ 122 2,400
—4 150,0002 %7+ 12 12,600
- 130,0002 *5% * 12 7,800
o2l 100,0002 %39 * 122 46,800
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3,600
25,200
23,400

1,800
22,200

5,400

8,400

3,000

5,400
60,960

2,640

250

1,000

2,883

1,250

1,000

1,000

250

3,250
24,500
24,500

55,080
3,240
85,800
81,120
4,680
16,500
190,403
17,883
4,500
2,500
10,000
2,000
2,000
2,500
2,500
117,200
52,200
25,000
40,000

16,320

2,000

2]

100,000 x3&* 122
50,0002 30 ~ 122
50,000 x3& * 122
450,000 «1H* 123
100,000 7 * 122
50,0003 x5 * 128
150,000& x3H 122
220,000 x1H 122
90,0002 #51F 128
90,000 x3& * 122
130,000& x52F 123
130,000 x3&* 122
30,0002 55+ 10

X+
&
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| Xt

| Xt
SEAYHAEX]
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A2 2sRBHS2 SA 20D
M oMM ATE(2SY 2/ 25H0=)
Cel: SE=H2Ie4dst CEEREE
4= 24 B GRS - HRAY - BES Ol &4 A HIDE2
-SAHASRA 5,000
-SOIZEAAH0IEZ 2,000
-SIIEEIILE=DIH| 02 el =X 7,320
O=ofet=H 0] 20,000
mESICRRIEES[N= 7,800
=2 MEHMEE 28,600
O=AH=SXHEXHA 49,500
OC-EfEHEs 1,298,204
oJlzs 954,509
—Qt2 Xt 3,839,300« 1F 122 46,072
-Egd 4,377, 1003« 1Z 122 92,526
-4 2,959,100 «1& 128 35,510
—XtHA 2,399,002 1~ 123 28,79
-chel 2,887 40021 x202* 122 692,976
-AIRE 2,739,600 +3F 122 98,626
odz2=+¢ 954,401,000 *1/12+50%*23] 79,534
O&EZ=EINt=s 18,600
20014 100,000& x4~ 123 4,800
-155 0145200 8t
80,0002 2%« 123 1,920
-10& 0/ &5 0] et
60,000 9L * 128 6,480
-55014H0E 012t
50,0002 9~ 123 5,400
Og2+=gx:It= 1,200
-25E 0| & 30,0003 x3& * 128 1,080
-208 0| &25E 0] et
10,0003« 1F =122 & 120
OIAHEH =Y 5,520
iEsy 5520
B <= Xt 40,0002 x7&* 122 3,360
KA (W) 30,0003 4 * 128 1,440
JIEDEE 20,0002 +3~ 123 720
OgESIt|
954,401,000 *1/12+60%*23] 95,441
Olils+=¢ 36,120
—QrR Xt 180,000& x 12+ 123 2,160
-=g& 150,000& x 12 =123 1,800
=4 150,000& x1H 122 1,800
—XtAd 130,000& 1+ 12& 1,560
=& 100,000 x21H 122 25,200
-ARE 100,000 x3H 122 3,600
O&eise 13,800
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12,000
1,800
13,200
3,600
2,400
1,200
600
5,400
30,360
1,320
23,760
1,560
1,560
34,320
1,000
2,000
2,000
1,000
21,500
21,500
975
14,300
6,075

2,040
3,240
42,120
4,680
7,800
100,000
11,000
5,000
14,000
4,000
4,000
35,000
17,500
17,500
14,500
3,000
5,000
2,000
4,500

por=
28
2d
Pr=
por=
28
Pr=
por=
por=

- = = = = - = = = =

50,0008 x3& * 122
90,000 x3& * 122

50,0003 12
150,000 *3& %

el = Al

50,0003 »20H 128

170,000 x 1 * 122
110,000 x1&* 122
90,0003 x22EF ~ 128

30,0003 *26H

300,0003 x 15 *
200,000& x1H *
100,000 1
130,000 x 1
130,000 12
130,0003 x22H *
130,000 32 *
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L E =01l
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a3 FIHBHSS M Zstilst
M oMM ATE(2SY 2/ 25H0=)
Cel: SE=H2Ie4dst CEEREE
U A - BH - ERIE) - HRAY - BES of &4 e HIREY
ORSHHARIHY 3,750
Ocgugottss 4,167,281
OJIE2= 3,087,516
X2 Xt 5,544,300« 1Z 122 66,532
-t 5,070,600« 1Z 122 60,848
=4 3,439,200+ 13F « 122 536,516
XA 3,268, 1002 «3H« 128 117,652
-cH 3,560,200 *50F « 12 2,136,120
AR (72) 4,050,5002 «2F 122 97,212
-ANRR(82) 3,026,500 x2H 128 72,636
ogz2+¢ 3,087,515,000& * 1/ 12+50%*23] 257,293
OF2+EHtE 76,440
204014 100,000 *53F * 128 63,600
-155 01452001 8t
80,000 x5 128 4,800
-10=01a815E= 01 2
60,0003 7 * 128 5,040
-5 014H0E 012t
50,0002 52 ~ 122 3,000
OFZFEF:IIHt= 7,800
25301 & 30,0003 6 128 2,160
20501 af25E 01 2t
10,0002 x47H« 122 5,640
OJHled+g 51,840
A= 51,840
HH < Xt 40,0002 +#43F « 122 20,640
KHA () 30,0002 x28H « 122 10,080
KA (EW) 60,0002 x21H+ 122 15,120
KA (AUH) 100,000& =2« 12& 2,400
- JIEIHS 20,0002 #1512 3,600
OHEFIHI
3,087,515,0002 * 1/ 12+60%*23] 308,752
Olls=¢ 97,440
NN, 200,000 x1H 122 2,400
-t 180,000& 1+ 12& 2,160
-4 150,000 x13F <122 23,400
XA 130,000 *3% * 122 4,680
-cH 100,000 x50 « 122 60,000
AR & 100,000& x4« 12& 4,800
OF - Ea= 32,400
-cH 50,0002 x50« 122 30,000
AR @ 50,000 x4 * 128 2,400
Ox#Mag 33,600
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5,400
3,600
15,600
1,800
7,200
80,280
2,640
2,040
71,280
4,320
112,320
106,080
6,240
21,600
187,775
30,125
10,000
1,125
2,500
2,500
1,250
1,750
250
250
10,500
14,500
14,500
1,200
2,000
2,000
1,750
1,750
120,200
50,000
27,000
43,200
18,000
6,000
5,000
2,000
5,000
25,000

28
=
2g
por=
28

5

- = = = =

50,0003 32 »
90,0003 x4« 128

150,000 »4H %
90,0003 *66H « 122

450,000« 15 *
300,000 x1H*
100,000& 13 *
220,000 x1E 122
170,000& x 12+ 123
130,000 x68& « 122
130,000& x4~ 123
30,000& »72H+10.

A HI&
HIAl
LHOAH

=l Xt
| Xt
t

Tl

Tl

2

3

=Xl
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